
Year 8 – Maths – Autumn 1

Unit 1 - primes

No. Question Answer

1.1 What is a prime number? A number that only has two factors, one and itself

1.2 What is a square number? The result of multiplying a number by itself

1.3 What is the square root? The inverse of squaring e.g. the square root of 64 is 8 

1.4 What is an integer? A whole number

1.5 What is a multiple? A number in the times table

1.6 What is a factor? A number that divides into another number without any 
remainder

1.7 What is the HCF? The highest common factor (the largest whole number 
that is a factor of both numbers)

1.8 What is the LCM? The lowest common multiple (the smallest number that is 
a multiple of both numbers)

1.9 What is the index? How many times a number has been multiplied by itself 
e.g. σ σ σ σ σ σ

1.10 What does power mean? How many times a number has been multiplied by itself 
e.g. σ σ σ σ σ σ
“three to the power of five”

1.11 What does squared mean? A number to the power of 2

1.12 What does cubed mean? A number to the power of 3

1.10 What are the prime factors? The factors of a number that are also prime numbers

1.11 What is prime factor decomposition? Breaking down a number into the product of its prime 
factors using a prime factor tree

1.12 What does product mean? Multiply

Unit 2 - fractions

No. Question Answer

2.1 What is an improper fraction? A fraction where the numerator is bigger 
than the denominator

2.2 What is a mixed fraction? A fraction where there is a whole 
number and a fraction (it is bigger than 
one)

2.3 What is a unit fraction? A fraction with a numerator of one

2.4 How do you multiply fractions? Multiply the numerators and multiply 
the denominators

2.5 How do you divide fractions? Find a common denominator
Divide the numerators

2.6 How do you add fractions? Find a common denominator
Add the numerators

2.7 How do you subtract fractions? Find a common denominator
Subtract the numerators

2.8 How do you find a fraction of an amount? Divide the amount by the denominator 
and multiply by the numerator

2.9 To find… Divide by 2

2.10 To find… Divide by 3

2.11 To find… Divide by 4

2.12 To find… Divide by 5

2.13 To find… Divide by 6

2.14 To find… Divide by 7

2.15 To find… Divide by 8

2.16 To find… Divide by 9

2.17 To find… Divide by 10





Historical Context Allusions

Eighteenth Century Smithis set in 1750.  The Eighteenth Century means the 100 years from 
1700-1799.

Carriage 

and 

Equipage

These are both types of horse-drawn transport.  There were 

no trains in 1750.  Equipages are smaller and more expensive 

than carriages.

Justice is Blind In Greek Mythology, the goddess of Justice wears a blindfold – so that 

she judges people based on what they have done, not how they 

appear.  Sometimes, people change the meaning to suggest that the 

Law sometimes gets things wrong.

Shilling A Shilling was a coin worth 12 pennies. Gaol Jail (pronounced the same). The original spelling was Gaol. Bird Symbolism Different birds symbolise different types of people. E.g. if you call 

someone a hawk, it means they are predatory.

Guinea A Guinea was a coin worth 20 shillings. The Pox A disease that spread quickly and kills its victims. Don’t Judge a 

Book by its Cover

This phrase means that you shouldn’t judge a book (or a person) until 
you see what's inside.

Livery A person’s livery is the clothes that they wear. Coachmen / 

Footmen /

Maids

Wealthier individuals could afford to employ servants who 
would live with them in their houses.  Coachmen and 
Footmen looked after the coaches and ran errands. Maids 
cleaned and cooked the house.

The 12 Days of 
Christmas

…is a song that countdowns to Christmas. In the novel Smith, the 
hangman rewrites the words to countdown to an execution.

Pistol, Musket and 
Fowling Piece

These are types of fire-arm (guns).  They can fire one ball at a time – then 
they must be reloaded.  They use gunpowder.

Debtors’ 

Prison

If you got into debt and couldn’t pay it back, you would go to 
debtors’ prison.  Here, your family could visit and even live 
with you in gaol.  You were not allowed to leave until the 
debt was paid.

The Fall of Lucifer In Christianity, Lucifer (Satan or the Devil) was the brightest and most 
beautiful angel in heaven.  He defied (fought with) God and was 
punished by falling from heaven into Hell. 

Historical Locations The Law Crime

St Paul’s St Paul’s Cathedral was the main church and tallest building in London in 1710.  
It’s churchyard was filled with booksellers and market stalls.  It is the area 
where Smith picks pockets.

Justice Justice is the idea that everyone should get what they 
deserve and that crimes should be punished and good deeds 
rewarded.

Highwaymen Highwaymen were thieves that wore masks and rode horses.  They 

would rob passing carriages – taking the passengers’ jewels and 

money.

Ludgate Ludgate Hill was a main Road in the City of London.  It is still a main Road today. A Justice A Justice is a person – a Judge.  When Smith calls Mr 
Mansfield a ‘Justice’ he means a Justice of the Peace (a 
Judge).

Toby or High Toby These are both other names for Highwaymen in 1750.  When 

characters talk about ‘the high Toby’ they usually mean Lord Tom or 

Dick Mulrone.

Tyburn Tyburn is an area of London (now it is near Marble Arch).  In 1750 it was on the 
edge of the city.  Criminals were executed here.  There was a gallows that was 
called the Tyburn Tree.

The Old 

Bailey

The Old Bailey is a building – it is the main court of London, 
where criminals are given their punishments.

“Stand and 

Deliver!"

…is what Highwaymen called to their victims. Stand! (Stop!) and 

Deliver (Give me your valuables!)

Newgate Newgate Prison (or Gaol) was a large jail in London.  It held criminals of many 
types.  In 1750, visitors were allowed into and out of the gaol with much greater 
freedom.

The

Hangman, 

Gallows and 

Tyburn

London had a hangman in 1750.  It was his job to execute 
criminals who were sentenced to death.  Criminals would be 
driven through the city on a cart from Newgate to Tyburn.  
The hangman would place them on the gallows.  The gallows 
was a tall post with a loop of rope hanging from it (a noose).  
The hangman would open a trap door and the criminal would 
drop through with the rope around their neck.

Honour among 

Thieves

This is the idea that criminals can have rules and codes that they 

follow.  Criminals often suggest that they have a noble code and that 

they look out for each other and don’t harm the innocent.

Hampstead Hampstead is an area in the North of London.  It has both wild areas and 
expensive houses.  It was popular with highwaymen in the Eighteenth Century.

Finchley 
Common

Finchley Common was a large wild area near Hampstead.  It is where Lord Tom 
works as a highwayman.  It no longer exists.

Lawyer / 

Attorney

A Lawyer or Attorney reads and writes legal documents.  
They also represent people in court.

Romantic Stories Highwaymen were romantic figures – which means that many people 

were attracted to their exciting and dangerous life.

Childhood EverydayLife Criminals

Education Only wealthier children would have gone to school in 1750 – most would have 
worked.  It is not surprising that Smith and his sisters cannot read.

Pubs, Inns, 

Taverns

These were important places in 1750 London.  Many people 
drank a lot and drunkenness was common.  They were also 
places to meet, eat and gossip.

Dick Turpin A real historical figure. The most famous Highwayman.  Worked 

Hampstead from ¢ƘŜ {ǇŀƴƛŀǊŘΩǎ Pub.  Was finally caught and 

executed at Tyburn in 1739.

Apprentices 

/Servants

Children could work as servants (as Smith does for the Mansfields) or as 
apprentices.  Apprentices lived with their masters and learnt their trade.  Lord 
Tom jokes that Smith is his apprentice.

Landlord A landlord or landlady is the person who runs a pub or 
tavern.  We meet two in the novel.

Claude Duval A real historical figure. Another famous Highwayman. A handsome 

Frenchman who became a romantic criminal in England.  Executed in 

1670.

Pickpockets Children could be criminals – often pickpockets. Priest / 

Parson

A Christian religious leader in the community. Dick Mulrone A fictional highwayman invented by Leon Garfield.
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Year 8 – Science – Autumn 1

Topic: The Periodic table 1 (C.11)
Define "period" Rows in the periodic table
Define "group" Columns in the periodic table
Which side of the periodic table contains metals? Left
Which side of the periodic table contains non-metals? Right
Where are alkali metals found in the periodic table? Group 1
Where are halogens found in the periodic table? Group 7

Give 4 properties of metals

*High melting point
*Good thermal and electrical conductors
*Ductile
*Malleable

Give 4 properties of non-metals
*Low melting point
*Poor thermal and electrical conductors
*Brittle

Define "alloy" (extension only) Mixture of two elements, one is a metal

Why are alloys hard? (extension only)
Atoms are different sizes so can't slide over each 
other

Topic: The Periodic table 2 (history) (C.12)
What is the name for the smaller number given for 
each element?

Atomic number

What is the name for the bigger number given for 
each element?

Mass number

How do you calculate the number of protons for an 
element?

Use the atomic number

How do you calculate the number of electrons for an 
element?

Use the atomic number

How do you calculate the number of neutrons for an 
element?

Mass number - atomic number

How are elements arranged in the periodic table? In order of atomic number (lowest to highest)
The column (group) in the periodic table tells us the … Number of electrons in the outer shell
What is the name of the elements found in the middle 
of the periodic table that are not part of a group?

Transition metals

Why did Mendeleev do when creating the modern 
periodic table? (extension only)

Left gaps to make the pattern fit

How do you calculate the relative formula mass of a 
compound? (extension only)

Add up the mass numbers

Topic: The periodic table 3 (groups) (C.13)

Name 6 alkali metals in order of reactivity (low to 
high)

Lithium, sodium, potassium, rubidium, caesium, 
francium

What is formed when alkali metals (group 1) react 
with water?

Alkaline metal hydroxide

What happens to reactivity as you move down the 
alkali metals (group 1)?

Increases

Name the 5 halogens (group 7) in order of reactivity 
(low to high)

Astatine, Iodine, Bromine, Chlorine, Fluorine

State 3 properties of the halogens (group 7) Non-metal, highly reactive, diatomic

What happens to reactivity as you move down the 
halogens (group 7)?

Decreases

Name three noble gases (group 0) (extension only) Helium, neon, argon

State 3 properties of the noble gases (group 0) 
(extension only)

Non-metal, inert, gases

What happens to density as you move down the 
noble gases (group 0)? (extension only)

Increases

Topic: Materials (extension only) (C.14)
How are ceramics made? Shaping wet clay and heating in furnace
State two properties of ceramics Hard and tough
Why do we glaze ceramics? To make them waterproof

What is a polymer?
A very large molecule made from smaller 
molecules called monomers

Give an example of a polymer Plastic
Give two properties of polymers Insulators, unreactive

Define "composite"
A material made form two or more different 
types of material

Give two examples of composites MDF and fibreglass
What is MDF made from? Wood fibres and glue

Why do we use composites?
We can combine materials with useful 
properties

Topic: Reaction properties (C.15)

Recall the six signs of a chemical reaction
1) Odour, 2) colour change, 3) precipitate formed, 4) temperature change, 5) gas produced, 6) light 
emitted

Define "exothermic" A reaction which gives out energy
Define "endothermic" A reaction which takes in energy
Describe the test for oxygen gas Relights a glowing splint
Describe the test for hydrogen gas A lit splint causes a squeaky pop
Describe the test for carbon dioxide gas Turns limewater cloudy
If a salt contains two elements only, what ending is given to the name? (extension only) "-ide"
If a salt contains more than two elements (including oxygen!), what ending is given to the name? (extension 
only)

"-ate"

What is the formula for copper sulphate? CuSO4
What is the formula for calcium carbonate? CaCO3



NATURALCAUSES OF CLIMATE CHANGE HUMANCAUSESOF CLIMATE CHANGE

How does human activity = greenhouse gases?

Solar 
output 

A sunspot is dark patch on the sun that appears from time to time. Every 11 years the 
number of sunspots changes from very few to lots to very few again. 

Lots of sunspots =warmer Very few sunspots =cooler

Å During 1645ς1715there wereveryfew sunspots. During this time, therewas avery 
ŎƻƭŘ ǇŜǊƛƻŘ ƪƴƻǿƴ ŀǎ ǘƘŜ Ψ[ƛǘǘƭŜ LŎŜ !ƎŜΩΦ 

Volcanic
Activity

Violent volcanic eruptions blast lots of ash, gases (e.g. sulphur dioxide) 
and liquids into the atmosphere. Major volcanic eruptions lead to a brief 
period of global cooling. This is because the ash, gases and liquids can 
block out the sun’s rays, reducing the temperature. 
Å Pinatubo 1991 eruption = world temperatures fell by 0.5ϲC for

a year. 

Orbital 
Change

Orbital change refers to changes in how the earth moves round the sun. It 
affects how close the earth is to the sun and therefore how much energy we 
get from the sun. When the earth is very close to the sun, it is warmer. 
When the earth is further away from the sun, it is cooler.
Å Eccentricity: how the earth orbits the sun. Every 100,000 years the orbit 

changes from circular to elliptical (egg-shaped). This affected how earth 
is to the sun. 

KS3 Geography Knowledge: Climate Change

How have global 
temperatures 
changed over the 
past 800,000 years?

aƻǊŜ ǎǇŜŎƛŦƛŎŀƭƭȅΧΦΦ

Over the past 800,000 years 
the earth’s climate has 
fluctuated with periods of 
warm weather and periods
of colder weather. 

300,000 years ago, 
average global 
temperatures were 4°C 
warmer than today, 
where as approximately 
420,000 years ago, average global temperatures were 9°C colder than today. 

HISTORICAL 
RECORDS

Historical documents show that temperature changes have resulted in periods of history where 
the earth was colder than today (glacials) and warmer than today (interglacials). During the Little 
LŎŜ !ƎŜΣ bŀǇƻƭŜƻƴΩǎ ŀǊƳȅ ŦǊƻȊŜ ǘƻ ŘŜŀǘƘΦ 

PAINTINGS Paintings from 1677 show that the Thames was previously frozen over! 

LONG TERM CLIMATE CHANGE

How hasglobal
temperature 
changed since 
1860?

More 
ǎǇŜŎƛŦƛŎŀƭƭȅΧ

More recently the earth’s temperature has 
shown a rapidly warming trend, with 
average temperatures continuing to grow. 

In 1883, the average temperature was 
13.5°C, whereas in 1960 the average 
temperature had risen t 14.0°C. By 1985, the 
average temperature had risen to almost 
14.4°C.

THERMOMETER 
RECORDS

ÅAverage global temperatures have risen 
by 0.8°C in the last 100 years. 
ÅMost of the warming has occurred recently. 
ÅIn the last 35 years, average temperatures have risen by 0.5°C. 
ÅThe 20 warmest years on record have all come since 1995. 
ÅThe five warmest years on record have come since 2010, with 2016 being the warmest year yet. 

SATELLITE 
IMAGES

Arctic ice cover has decreased since the 1970s. It has reduced by approximately 4% and has halved 
in thickness in many places. 

SEA LEVEL RISE Rises in temperature and melting ice sheets has resulted in a rise in sea levels.

RECENT GLOBAL WARMING

TheGreenhouse 
Effect

A) Humans produce greenhouse gases, which create a blanket 
around the earth.

B) Sunlight travels to earth as shortwave radiation.
C) Sunlight bounces off the earth’s surface as long-wave 

radiation. This reflected sunlight is trapped in the earth’s 
atmosphere by the greenhouse gases = earth heats up.

D) Some heat does manage to escape.

Methane

Humans are to 
blame 
ōŜŎŀǳǎŜΧΦ

Cows produce a methane when they fart, belch and poo. Methane is a greenhouse gas that traps 
longwave radiation in the earth’s atmosphere. 

¢ƘŜ ǿƻǊƭŘΩǎ ǇƻǇǳƭŀǘƛƻƴ ƛǎ ǊƛǎƛƴƎ ŀƴŘ ŎƻǳƴǘǊƛŜǎ ŀǊŜ ōŜŎƻƳƛƴƎ ƳƻǊŜ ŘŜǾŜƭƻǇŜŘ Ґ ǘƘŜǊŜ ŀǊŜ ƳƻǊŜ ǇŜƻǇƭŜ 
and more families that have money to spend on food (e.g. meat) = rising demand for meat = more 
animals farmed = more methane produced. 

Carbon dioxide 

Humans are to 
ōƭŀƳŜ ōŜŎŀǳǎŜΧ

Carbon dioxide is the greenhouse gas that people are most worried about, as it is the one we are 
adding to the atmosphere fastest. 
ü Fossil fuels (coal, gas, oil) are burnt to make energy = carbon dioxide is released into the 

atmosphere.
ü Humans drive cars, which release carbon dioxide, nitrous oxide and methane into the 

atmosphere. 

Rising population and more developed countries = increased demand for electricity = more carbon 
dioxide produced.



EFFECTS OF CLIMATE CHANGE

KS3 Geography Knowledge: Climate Change Continued

CASE STUDY OF HOW CLIMATE CHANGE AFFECTS LICS: BANGLADESH FLOODS CASE STUDY OF HOW CLIMATE CHANGE AFFECTS THE UK

Location: Southern Asia, along the Tropic of Cancer. It neighbours Burma, India and the Indian Ocean. 

How has climate 
change increased 
flooding ?

ÅIt’s low altitude (<10m above sea level) and long coastline (580km) makes it vulnerable to sea 
level rise. 

ÅThe Himalayas lie to the north of Bangladesh. The ice and snow melts in the summer, which then 
rushes down into the rivers in Bangladesh. This occurs more due to increased temperatures. 

ÅBangladesh is prone to cyclones and monsoonal rains which bring a huge amount of rain. Due to 
climate change, these storms will occur more often.

Primary effects

Å1000 people died
Å7 million homes destroyed
ÅHospitals flooded
Å400,000 factories closed down.
ÅFields were flooded. 2/3rds of the country was flooded.
ÅRoads and railways were flooded.

Secondaryeffects

ÅDead bodies spread disease and illness
Å30 million people homeless.
ÅTemporary hospitals did not have the necessary equipment or medicine.
ÅMany people losing their jobs.
Å700,000 hectares of crops were destroyed. 
ÅBlocked transport routes mean that aid could not reach victims. 

Where is the 
UKlocated?

The UK is located in the west of Europe. It is made up of England, Scotland, Wales and Northern Ireland. 

How has 
climate change 
increased 
flooding ?

Å Extreme weather will be more common – floods, droughts, heatwaves…etc.
Å Sea level will cause coastal flooding

Negative 
effects

ÅFlooding due to extreme weather (precipitation and storms) and sea level rise. The number of people 
at risk of flooding is likely to double to 1.9 million by 2050. Current flooding costs the UK £1.9 million.  
ÅSea level rise and storms = more coastal erosion. It is expected that sea levels will rise by 1 – 2m by 

2080. The most at risk areas will be soft rock coastlines, such as South Wales, North-West Scotland, 
Yorkshire and the Thames Estuary. 
ÅWater shortages due to extreme weather (lack of precipitation). Many places will have a lack of 

water. 
ÅIncreases in temperature can lead to heatwaves, such as the 2003 heatwave, during which 

temperatures reached 38.5°C = 2045 deaths. This will become normal summer weather by the 2040s. 
ÅClimate change in other countries (Kenya, Peru, Indonesia) will affect crop yields in these countries. 

The UK will suffer as it will be more difficult to import food from these countries. 

Positive effects
ÅA warmer, wetter climate will increase crop yields in the UK. 
ÅTourism will increase due to warmer weather = more jobs and income for the UK. 

LOCAL RESPONSES TO CLIMATE CHANGE: how can people reduce their greenhouse gas emissions? NATIONAL RESPONSES TO CLIMATE CHANGE: how can governments reduce national greenhouse gas emissions?

Solar panels Theseuse the sun to create energy, therefore less fossil fuels are burned. 

Insulation Traps heat in the house = less heating is needed = less energy used = less fossil fuels burned.

Have a shower 
instead of a bath

Less water is used = less heating is needed to heat the water = less energy used = less fossil fuels 
burned

Switch off 
electrical goods

Prevents the overuse of energy. 

Usedouble glazed 
windows

Traps heat in the house = less heating is needed = less energy used = less fossil fuels burned.

Turn down heating Less energy is used = less fossil fuels are burned.

Use low energy 
light bulbs

Less energy is used = less fossil fuels are burned.

Improving 
public
transport

The UK government has invested £840million in public transport across 10 UK cities. 

London have improved buses = more people use the bus & less drive = less greenhouse gases. 
ü Live information boards at bus stops tell bus users when their bus will arrive making it easier. 
ü Bus lanes give buses priority on the roads = shorter journey times. 

Cycle hire schemes in UK cities encourage people to cycle rather than drive = less greenhouse gas 
emissions. 

National Parks

Planting trees and preventing deforestation = more trees = more photosynthesis = more carbon 
dioxide removed from the atmosphere = less global warming. Many governments have created 
national parks to protect trees. The Gola Forest(Sierra Leone- Africa)is a national park that protects 
71,000 hectares of trees. 

Renewable 
energies

Generating energy from natural renewable sources (solar panels, hydro-electric power, wind turbines). 
They do not produce greenhouse gases.

International 
agreements

Many of the governments around the world meet to discuss climate change and how they can work 
together to reduce global carbon emissions. In 2016 world leaders met at the Paris Climate Summit 
where 196 countries signed a climate agreement, where they promised to:
ü Reduce greenhouse gas emissions and keep global temperature increase below 2°C.
ü HICs to support LICs by providing $100 billion per year 

Extreme weather (hurricanes). In 
2017 there were 83 storms and 
42 hurricanes. This was above 
average. Climate change will 

result in more hurricanes in the 
future. 

Extreme weather (drought) 
= crops will die = famine. A 
famine occurred in Somalia 

(2008-9) where 258,000 
died due to a lack of food. 

Sea level rise due to melting 
ice sheets = flooding in low 

lying countries (Bangladesh).  
80% of people exposed to 

river flooding live in 
developing countries.

Pests & diseases: an increase of 
2°C will mean more pests = more 
crops will die. E.g. wheat yields
losses will increase by 46% in 

countries such as China.

Pests & diseases:
mosquitoes love hot 

weather. Global warming 
will = 90 million people will 
be exposed to malaria by 

2030.

Extreme weather events = increase in 
refugees as people are forced to 

leave their homes due to famine or 
flooding. 

Habitats will be 
lost due to 

extreme weather 
associated with 
climate change. 



No
.

Question Answer

1 What is the bible? Holy book for Christians, contains all their religious 
teachings

2 What is Genesis? First chapter of the bible, means ‘beginning’

3 What does creationism 
mean?

The belief that God created the world

4 What does creation
mean?

When something is made

5 What does evolution 
mean?

When something has grown and developed over time, 
from a simple life form to a more complex one

6 What is the big bang? A large explosion that created all matter and energy in the 
universe 

7 How do Christians 
believe the world was 
created?

A- God created the world in 6 days and rested on the 

seventh

8 How do Christians 
believe the world was 
created?

C- He created the heavens and earth, light and dark, land 
and sea, plants and trees, sun, moon and stars, animals, fish 
and birds and then man and woman. 

9 What is the evidence for 
the Christian creation 
story?

The bible 

10 What is a strength of the 
bible?

Christians believe it was given by god so it must be true

11 What is a weakness of 
the bible? 

There is no proof it was written by god, it could be made up 

12 How do Hindus believe
the world was created?

A- There was nothing in the world, a giant cobra appeared 

with Lord Vishnu sleeping on it. 

13 How do Hindus believe
the world was created?

B- A sound began…ohm…Vishnu told Brahma to create the 
world. 

14 How do Hindus believe
the world was created?

C- He split the lotus flower into three- the heaven, earth 
and skies. 

15 How do Hindus believe the 
world was created?

D- He created trees, plants, animals, birds and fish. Eventually Lord 
Shiva will destroy the earth and then the cycle will continue. 

16 What is the evidence for 
the Hindu creation story?

Hindu sacred texts 

No. Question Answer

17 How does intelligent design 
explain creation? 

Life is too complex to come about by chance 

18 How does intelligent design 
explain creation? 

Therefore, life must have been designed and planned by an intelligent being

19 What is the evidence for
intelligent design?

Complexity of the world  e.g. how the parts of the eye work together 

20 What is a strength of the 
evidence?

How unlikely it is that the eye would have been formed by chance 

21 What is a weakness of the 
evidence?

Flaws in nature e.g. hurricanes or volcanoes 

22 How do scientists believe the 
world was created? 

A- the big bang- a powerful explosion which created all matter 

23 How do scientists believe the 
world was created? 

B- enormous heat generated, as it cooled, life began to develop 

24 What is the evidence for the big 
bang?

The universe is getting bigger so it must once have been smaller 

25 What is a strength of this? Scientifically proven 

26 What is a weakness of this? What could have caused the big bang?

27 How do scientists believe life
was created? 

A- Species have evolved from simple life forms into more complex ones 

28 How do scientists believe life
was created? 

B- their DNA has changed over time to allow species to develop and survive 

29 What is the evidence for this? Fossil records showing how organisms have changed over time

30 What is a strength of this? Physical evidence that scientists can study

31 What is a weakness of this? Gaps in the fossil record 

Year 8 – RE – Autumn 1



Year8ςSpanish ςAutumn 1

1 inglés / inglesa
English

16 junio June

2 ecosés / ecosesa Scottish 17 julio July

3 británico/a British 18 au

gosto

August

4 francés / francesa French 19 septiembre Septembrer

5 español/a Spanish 20 octubre October

6 italiano/a Italian 21 noviembre November

7 alemán / alemana German 22 diciembre December

8 marroquí Moroccan 23 el pelo hair

9 colombiano/a Colombian 24 negro black

10 somali Somalian 25 castaño brown

11 enero January 26 rubio blonde

12 febrero February 27 pelirrojo ginger

13 marzo March 28 gris grey

14 abril April 29 ondulado wavy

15 mayo May 30 rizado curly



Year8ςSpanish continued ςAutumn 1

31 liso
straight

46 deportista sporty

32 largo long 47 tímido/a shy

33 corto short 48 paciente patient

34 los ojos eyes 49 divertido/a funny

35 azules blue 50 generoso/a generous

36 verdes green 51 estupido/a stupid

37 marrones hazelnut 52 simpático/a nice

38 alto/a tall / big 53 valiente brave

39 bajo/a short / small 54 hablardor/a chatty

40 delgado/a thin 55 molesto/a annoying

41 gordo/a fat 56 mi madre my mum

42 de talla mediana medium height 57 mi padre my dad

43 intelligente clever 58 mi hermano my brother

44 trabajadora hard-working 59 mi hermana my sister

45 perezoso lazy 60 mis padres my parents



Year8ςFrench ςAutumn 1

1 anglais(e)
English

16 juin June

2 écossais(e) Scottish 17 juillet July

3 britannique British 18 août August

4 français(e) French 19 septembre Septembrer

5 espagnol(e) Spanish 20 octobre October

6 italien(ne) Italian 21 novembre November

7 allemande(e) German 22 décembre December

8 marocain(e) Moroccan 23 les cheveux hair

9 colombien(ne) Colombian 24 noirs black

10 somalien(ne) Somalian 25 bruns brown

11 janvier January 26 blonds blonde

12 février February 27 roux ginger

13 mars March 28 gris grey

14 avril April 29 bouclés wavy

15 mai May 30 frisés curly



Year8ςFrench continued ςAutumn 1

31 raides
straight

46 sportif(ve) sporty

32 longs long 47 timide shy

33 courts short 48 patient(e) patient

34 les yeux eyes 49 drôle funny

35 bleus blue 50 généreux(se) generous

36 verts green 51 stupide stupid

37 noisette hazelnut 52 sympa nice

38 grand(e) tall / big 53 courageux(se) brave

39 petit(e) short / small 54 bavarde chatty

40 mince thin 55 casse-pieds annoying

41 gros(se) fat 56 ma mère my mum

42 de taille moyenne medium height 57 mon père my dad

43 intelligent(e) clever 58 mon frère my brother

44 travailleur(se) hard-working 59 ma soeur my sister

45 paresseux(se) lazy 60 mes parents my parents



Keywords

Pulse The ‘heartbeat’ of a piece of music. Usually 
played on a cowbell – it keeps all of the 
performers in time 

Rhythm
The pattern of beats in a piece of music. 
Usually played by a percussion instrument 
e.g. drum kit, djembe or by beatboxing or 
body percussion 

Calland Response 

When a singer or drummer plays a rhythm 
and the rest of the group respond with the 
same rhythm or a variation on It 

Tempo
How fast or slow a piece of music is e.g. 
slow tempo / fast tempo. 

Dynamics 
How loud of soft a piece of music is. The 
dynamics get louder as more 
instruments/singers join in. 

Texture The layers of sound in a piece of music. E.g. 
thick texture when many people are 
playing/singing and thin texture if it is a 
solo 

Polyrhythm Many different layers of rhythms on top of
each other 

Structure The overall layout of a piece of music. 
Usually begins with an intro before 
verse/chorus and ends with an outro. 

Ostinato A repeating rhythm 

Master Drummer The main musician who leads an African 
Drumming Performance. Keeps everyone In 
time and leads the call and response 

Bass / Tone / Slap Different ways that you can play a djembe. 
Bass is in the middle of the drum (low 
pitch), tone is on the side of the drum 
(medium pitch) and slap is on the edge of 
the drum (high pitch) 

Year 8 – Music - Autumn 1 Rhythms Of The World

Note Values and their durations

Semibreve Lasts for 4 beats [counts[

Minim Lasts for 2 beats [counts]

Crotchet Lasts for 1 beat [count]

Quaver Lasts for half a beat [count[

Semiquaver Lasts for a quarter beat [count]

The Rhythm Tree

The Music of West Africa 

The Djembe 

Cowbell

Balafon

Cajon 

Pentatonic Scale 



Year 8 ςArt ςAutumn 1

1 Different qualities of darkness and light.

Tone

13 Pop Art An art movement that originated in the 

1960s and is concerned with popular 

culture.

2 The feel of a surface e.g. rough/ smooth. Texture 14 Roy Lichtenstein An American painter who was part of the 

Pop Art movement.

3 A mark made by a point moving on a 

surface.

Line 15 Popular Culture The ideas, beliefs and customs of a 

mainstream culture or cultures.

4 The three dimensional quality of an object. Form 16 Themes common in Lichtensteinôs workThe lives of ordinary white Americans, 
Ambiguity, 

5 The outline of an object. Shape 17 Warm Colours Red, Orange and Yellow. These colours are 
associated with feeling physically warm and 
strong emotions such as anger.

6 Different hues caused by light refracting on 

a surface.

Colour 18 Cool Colours Blue, Green and Purple. These colours are 
associated with feeling physically cool and 
emotions such as calm and sadness.

7 The space within a painting or sculpture 

that contains the important objects/ 

information.

Contrasting Colour 19 óInthe Carô 1963 A painting by Roy Lichtenstein that shows a 
man and women together driving in a car. 
Lichtenstein uses warm colours for the woman 
and cool colours for the man.

8 The space within a painting or sculpture 

that does not contain the important objects/ 

information.

Complimentary Colour 20 óOh JefféI love you tooébutéô 1964A painting by Roy Lichtenstein that shows 

a young an beautiful women on the phone 

to a man named Jeff. 

9 The arrangement of objects within an 

artwork.

Warm colours 21 óDrowning Girlô 1963 A painting by Roy Lichtenstein that shows 

a young beautiful woman drowning whilst 

crying. This painting uses almost entirely 

cool colours.

10 A technique used to show different 

distance on a flat surface.

Cool colours 22 Ambiguity Having more than one possible meaning.

11 Placing two or more objects together for a 

contrasting effect.

Onomatopoeia 23 Common characteristics of the lives of 

white Americans in the 1960ôs

Wealthy

Healthy

Men ïShort smart hair and suits

Women ïShoulder length hair and 

dresses.

12 A shading technique where lines are placed at 
different distances apart to show tone.

Hatching


